PackpbiTb CKObKU
1) 5x(x — 2) = 5x"~2-10x
2) (X"2 + 3xy)(2 + 7x + y) =(2XN2+7XN3+yxN2)+(6Xxy+21IxN2y+3xyN2)

(X2 + 3xy)(2 + 7x + y) =xX"2¥(2 + 7x + y) + 3xy*(2 + 7x + y) =(2xX 2+ 7x"3+yxN2)+(6xy+21x 2y+3xyN2)=
=2XN2+7XN3+YyXN2+6Xy+21XN2y+3xy N2

(XN2 + 3xy)(2 + 7x + y) =2X(XN2+3xy)+7X(XN2+3Xy)+Y(XN2+3xy)=(2XN2+6Xy)+(7XN3+21xN2y)+(yxN2+3xyN2)=
=2XN2+6XY+7XN N3+ 21X N2y +yx N2 +3xy N2

HET OTOEJIbBHOIO
MPABUIJI Ml sHaem!

PacnpefenutencHblit 3aKOH YMHOXEHUA,

(a+h)(ct+dite)= _PackpbITue CKo6OoK

/\)
a(b+ c)=>ab+ac

Mama nana gutel gute2  gute3



